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PARALELO SERIE

RESISTENCIAS

(e [;{e(V]} Yol W Calcular:

(o [X{e(V]) (Ol Calcular:

(o [3{e(V]} (o' Calcular:

(o [;{e(V]} O JN Calcular:

RT=40Q RT= RT= RT= RT=
IT=0.30 AMP IT= IT= IT= IT=
Vvi= vi= vi= vi=
VT=30V vz- VT=45V v2- VT=50V v2- VT=55V v2=
V3= V3= V3=
V4= va=
V5=
RT= 400 RT= RT= RT= RT=
IT=0.30 AMP IT= IT= IT= IT=
11= 1= 1= 1=
VT=30V 2= VT=45V i2= VT=50V 2= VT=55V 2=
13= 13= 13=
14= 14=
15=

R1=45Q R1=15Q R1=15Q R1=10Q

R2=25Q R2=25Q) R2=20Q R2=22Q

R3=100Q2 R3=25Q R3=40Q

R4=55Q R4=90Q

R5= 100Q2




